H & 0l & AHS B Ml A

SA: EAE
M DI BHE Y 2Y
=@t SMEE @ ABESE (EEEE))
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
A 2,673,661 2,806,938 133,277
= 103,000
Al 684,574
24| 1,886,087
DR BE L 29 2,267,308 2,559,565 N2, 257
Alb| 550,228
24| 1,717,080
SHEE 2 Es= 213,612 209,560 4,052
Alb| 20,000
i) 193,612
taae o He 155,438 155,624 A 186
Al 20,000
24| 135,438
201 LBt 20,683 24,874 4,186
01 ARzl 20,688 24,874 4,186
OUHE A2 B2t ns 6,816
a2 18,50021 852+ 122 1,776
&7 15,0002 x28Z* 128 5,040
OUIHEAZ SAXIE Hel 13,032
= ME AHWARC) P 70024+8,80021 6,160
CAXE H2l2E 7Y 6,872
-RFID B4 2402 %12,0000H 2,880
RFID ESAEIH 702 *12,0000H 840
I 802 * 14,4000 1,152
-2 S 500, 0002 *43] 2,000
OBIHE A2 SAXIE He 840
- CAH AHMARC) 72 70024 %1,20021 840
405 THakzE SH| 134,750 130,750 4,000
Alb] 20,000
24| 114,750
02 TA7YL| 134,750 130,750 4,000
OLHEAZ 2P 114,750
oAbt o M2 T A
16,00021+7,0002 112,000
HIZ A 25,0002 %1 10% 2,750
OsteEA2 2P
16,00024%1, 2502 20,000
Al 20,000
SNTE AER 26,454 22,216 4,238
201 Lere | 10,104 9,476 628
01 ARzl 10,104 9,476 628
OUHEANZ 2425 1 1,530
AREE 200,0002 *53]*90% 900




IZTHB HE U 29
SAEE & UZ2ES (EEEE))
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2

- 2l JtECIX 250,000 23] *90% 450
SALZ X 20,0002 * 1070 *90% 180
OCIHZ AT BAF S5 840
66,0003 *25IH*90% 1,485
OUUEA2 BHIMEHIA 23
6,000& *902] * 122 *90% 5,832
OStEHEAZ SHEE MY 2E2S 7Y
1,000,000 *90% 900
OBISEMT BAF S5 840
66,0002 *6IH*90% 357
301 LBENF 16,350 12,740 3,610
11 HAAHIXIE S 16,350 12,740 3,610
OUHE AR Sot=HTA SAL ZASE
130,000& *3H »23| 780
OUHEAMZ OElol SAS 2AE
130,000& *113] 1,430
OOUUEAMZ HelolIE=3AIE IR S A
A+ Al 11,0003 *12Z *102] 1,320
OCHHEAM 2 S 220 AL
860,000& 860
OCHHEAM 2 =X AL
860,000 860
OdtHE M2 gstsqual HAF 2AtsE
130,000& *3H »23| 780
OdtHE= A2 2l0] SAS ZAE
80,000&*102! 800
OBISHEMZ TABEZ BA
860,000& 860
OBIHT A2 SAS 2 #Al
860,000 860
OBIHENT SHTE 23
130,000& 602! 7,800
HMsts 29 31,720 31,720
301 LPENZ 31,720 31,720
11 HAIAHIXIAZ 31,720 31,720
OJEu=E LA
130,000 *83] *204 20,800
O23H4 %t ZAE 130,000& 602! 7,800
OsSY YL
130,000 *43| x6H 3,120
CHHEA 2 29 1,336, 181 1,275,732 60,449
AlHI 375,718
=l 960,463
OITIALY HEXIZ2(BTL) (M SAIY) 999,529 953,140 46,389
Al 305,587
=4l 693,942
307 QIZt01A 999,529 953,140 46,389




M EM

Y DIZCNT 2E L 29
&2l CHiHEAZ 29 (St &)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2

AlbI 305,587

-4l 693,942
05 CIZtRIErZ 99,529 953,140 46,389

ORIXIAIY HEXI=2(BTL) 99,529

Ax= 470,134,000 470,134

Altl 305,587

=l 164,547

- 24| 529,39%5,000& 529,3%

S 29X 93,591 91,935 1,656
101 21| 16,857 33,201 A16,344
M IIRIZ2EXSEs 16,857 33,201 A 16,344

OXtza 2ZX& 16,857
Jl2a 89,7762 x 1B 22 6 11,851
=R 89,7763 *1H+5 U6 2,6%4
- R0IAZEEZ 14,545,000 *5% 728
- IOIHAEEZ 14,545,000 *3.545% 516
- AIQYEERE 516,000 *12.95% 67
- NEEEE 14,545,000 *1.75% 255
AHHEEE 14,545,000 * 1% 146

HEZOHI 300,000 *1H 300

SXZEQE 300,000 *1H 300
201 B2 AH| 13,597 13,597
01 AtR2telt] 12,804 12,804

o=2gss 74 4,283

- Z2lE JtE2IX

150,000& 7 CH*23] 2,100

AstiE gedl 2X
125,000 3 *32 A 375

AME T2l =X

66,0003 »58F A 330
-H)| ST 14,0003 * 128 A 168

CBRIIE ZelH 22
22,0003 58 110
NRES 300,000& %43 1,200

O3&IE MZ 1,150& *1,8000H 2,070

O MOHLHE TIE 66,0002 * 164 1,056

OAMSHXIMBIA BIE Jtgt e

11,0002 * 10074 1,100
OfIE3 sl 3 ¢ 2,400
EA22IRARS
100,000 * 12 *13| 1,200
A WEIAAZ 100,000& *3F *43| 1,200
OXZea H)| dExz
52,9002 x12& 635




M EM
Y DIZCNT 2E L 29
el CGHEN2 29 (SH9 H2)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
O0TT MHIA =2
35,0003 x3& ~ 128 1,260
02 2324l 793 793 0
O=A2 galdl 523
23T MZES(ASIHI)
400,000 400
SteE M ZE sl (HslH])
123,000 123
ORER= 270,000 270
203 BR8] 900 900
03 AIF=AIH 2= 900 900
ON22g8 g2
1,000,000 *90% 900
301 LtENZ 62,237 44,237 18,000
10 AMSRRREELS 62,237 44,237 18,000
Ot A2 2HEX 62,237
=i= 1,500,000 «3F « 12 54,000
- S| 7,0003 #3222« 128 5,544
wWSH| 3,400+ 322 123 2,693
A2 AIEF X2 63,235 60,035 3,200
201 L2 63,235 60,035 3,200
02 3224l 63,235 60,035 3,200
oMIIe3 4,000,000 123 48,000
Oaolr=ER= 1,600,000 «6& 9,600
OXtgE = Alt| 5,000,000& 5,000
OA ot 3| 48,000 48
OQIEHYTY AIZR2 48,8403 123 587
SAZ HEAAE 2 32,846 33,279 A433
201 Lt 32,846 33,279 A433
02 S3=4gl 32,846 33,279 A433
OCCTV AlAE S22
40,800,000 * 7% 2,8%
OUIERT |2+ 5,724
-HIERIZ EHI 52,710,071 % 7% 3,690
- AR AIAE(IPS)
22,077,000 7% 1,546
SEX HAFXI(UPS)
6,961,000 *7% 488
ONAHHI(BFH) |2
48,015,891 x5% 2,401
OZHI0IXl |RXI2 19,600,000 *12% 2,352
ORFIDEH| |XIE2= 7,474,000 7,474
OMAUAAIAY B2
119,400« 122 1,433




SA: EAE

Y DIZCNT 2E L 29
el CGHEN2 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OZ22&0I MHIA OlE=
393 #4, 2002 %12 1,966
Oelgu 3ld AFEE 720,000 %122 8,640
CA2 23 J1grdEt 6,719 6,022 697
201 et 3| 6,719 6,022 697
01 AlR22IH| 6.719 6,022 697
OH0I2iA Al S el
30,800& x70= 2,1%
OMS EAAHIA 0122
18&%20,00021 123 %90% 3,888
OXAHEHl 425 7€
250, 0002 32| *90f% 675
CHH=A2 Oelol=sgEetset 29 140,261 131,321 8,940
Al 70,131
Tl 70,130
101 @124H| 32,421 32,421 0
AlH] 16,211
T4l 16,210
M IRINZZENSES 32,421 32,421 0
Oo0elol sgEss2 28 A3 32,421
= 23,304,000 23,304
AltI 11,652
-l 11,652
CERE 5,297,000& 5,297
Al 2,649
Tl 2,648
=41 3,220,000& 3,220
AltI 1,610
-l 1,610
- EEFOH 300,000& 1 300
Altl 150
Tl 150
- SAEE 300,000 *1 300
AlH] 150
T4l 150
201 eer23y| 24,060 14,880 9,180
AlHI 12,030
-l 12,030
01 AtR2te|HI 3,960 2,880 1,080
OZ2Iy 29425 7Y
2,400,000& 2,400
Al 1,200
Tl 1,200




SA SN2
Y DIZCNT 2E L 29
el CGHEN2 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OXt2ael ARE 1
90,0003 x12& 1,080
AlHI 540
Tl 540
O&=)| dEx 40,0003 * 122 480
Altl 240
Tl 240
02 35244l 20,100 12,000 8,100
o&llz 1,500,000& «12& 18,000
AlHI 9,000
2| 9,000
OUXg Zelx SXP4
300,000 72 2,100
AlHI 1,050
Tl 1,050
301 2P EN= 43,780 44,020 A240
Alt] 21,890
Tl 21,890
11 dALEEIXIZE S 43,780 44,020 A240
ONBOIMEZZ Y 2AE
80,0002 x212A1 2t 16,960
AlH] 8,480
-l 8,480
OZY - SoE2 8 2A=E
130, 000& »202 2,600
Al 1,300
Tl 1,300
OO elol el AL 2,220
Oel0ldalAL 2At=E
130,000 #4323 520
AlHI 260
-l 260
AEFEEER 1,000,0002 %12 1,000
Alt] 500
Tl 500
SHxFsUE 700,000& 12 700
AlH] 350
Tl 350
O goua 22,000,000& 22,000
Albl 11,000
Tl 11,000
405 AHaHE = 40,000 40,000 0
AlHI 20,000
Tl 20,000
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SA: EAE
M ZTEAD BHE Y 2Y
=?el: oA 2 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| O=x 2 us gy 258,000, 0002 258,000
R 22,858 67,230 A44,372
201 Yereely| 21,958 16,801 5,157
01 Al RF21H| 21,247 16.090 5,157
OZAZ L= sHAE2I| 14,217
B340 Al 36,3002 504 122 2,183
- HIG e 17,9502 100 * 122 2,154
SNNBE(HEES, Z0IER MEH S)
600,000 * 122 7,200
AMHIB(ELSH, Z4I1Y S)
140,000+ 122 1,680
A, AT S HE 500, 0002 +23] 1,000
OAR 22 2¢ 2,600
NREE 300, 0002 43! 1,200
ZRIE Sl 250,002 43| 1,000
S A 20,0008 <202 A 400
Osledts M% 1, 150218000 2,070
OOTT AHI2 0182
3,0002x32i 122 1,260
OMBURALIZ B2t 72
11,0002 10074 1,100
2 222 711 711 0
OZ A2 &3l 523
ZB=AB Il 400,0002 400
SR 3l 123,000 123
OALOHEEsH| 48,0002 48
o2Eea 40,0002 140
208 L2ETH| 900 900
IR ESSISEESIET 900 900
OZAZ 2% 225z
1,000, 0002 *90% 900
TN HEAAE 29 10,59 9,088 1,507
201 Yereely| 10,59 9,088 1,507
01 Al RF21H| 1,190 2,432 A28
OBtOI212 WAl S/ 72
3, 2002521 740
OTAT| 228 7Y
250, 000223/ x90% 450
2 222 9,405 6.6 2,749
OCCTV AlAE K24
(43,300,00024+7%) /122* 112 2,785
OUEHT RN+
(29,667,00024x7%) /128112 1,904
OZBHOIX SR+
21,500,000 % 12%+1/2 1,290




2H EhB
Y DZCNT 2E L 29
Chel: otHEN2 29 EER=E)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
OXAHLAIAE SN2
97,8602 6 588
OCIgY 3l AtEZ 236,500 123 2,838
SIEE A HeloISEEstE2t 29 309,020 100,000 209,020
Al 154,510
4| 154,510
101 @124l 159,618 79,027 80,591
Al 79,809
-4l 79,809
M IIRZ2EXSEs 159,618 79,027 80,591
O0gloIsgesa2t 29XA(HY 22) 132,075
JlE3 93,216,000 93,216
AlHI 46,608
=l 46,608
] 21,186,000 21,186
Al 10,593
-4l 10,593
- BEZ 12,873,000& 12,873
AltI 6,436
sl 6,437
- HEFOHI 300,000& *23|*4H 2,400
AltI 1,200
=t 1,200
- SRIEOIE 300,000 »22] x4H 2,400
Al 1,200
-4l 1,200
O0gloI=sEesa82t 2GXA(FLY 22) 27,543
JlEa 18,361,000 18,361
AltI 9,181
=t 9,180
=LY 4,238,000 4,238
Al 2,119
-4l 2,119
- BEE 2,544,000& 2,544
AlHI 1,272
el 1,272
- HEFIHI 300,000& *23|+2H 1,200
Al 600
4| 600
- SREIE 300,000 *23]+2H 1,200
Al 600
sl 600
201 Ler2 | 39,762 8,173 31,589




2H EhB
Y DZCNT 2E L 29
&t ot =29 (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Alt] 19,881
Tl 19,881
01 At2tltl 20,607 8,173 12,434
O=2g=3 ¢ 3,937
el EH 2 SA EX
400,000 42| 1,600
AltI 800
-l 800
DE¥L)| 2 M8 ZelE 8%
300,000& 42 1,200
Alt] 600
Tl 600
CREIE 22 S JIE MRES
1,137,000& 1,137
AltI 568
-l 569
O&FJIztdE ¢ 365,000 * 122 4,380
Al 2,190
Tl 2,190
O=AMItz Eel 8,690
CAEA Y 7003+5,0002 3,500
AltI 1,750
-l 1,750
ENAE Hel8F 5,190,000 5,190
Alt] 2,5%
Tl 2,59%
OAl 2222 33t MilA 018
300,000 * 12 3,600
AltI 1,800
Tl 1,800
02 s3=gHl 13,155 0 13,185
OtNg=28= & SatE2t | +=¢l
600,000 102 6.000
Alt] 3,000
Tl 3,000
ODITIHIIAE, CIXEARR RAI2
715,500 %102 7,155
AltI 3,578
-l 3,577
03 A2 I 6,000 0 6,000
O=Rcl JE TAZ SZA A
6,000,000 6,000
AlH] 3,000
Tl 3,000
301 EtE N = 7,640 0 7,640




2H EhB
Y DZCNT 2E L 29
&t ot =29 (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Alt] 3,820
Tl 3,820
11 dAMEEIXIZE S 7,640 0 7,640
Odtet= A2t 080l #HSat ZA=&
80,000&*502] 4,000
AltI 2,000
-l 2,000
OdtE A2 AH2lole &AL ZAs=E
520,000& 520
Al 260
Tl 260
OWsSY 2ALY
130, 000& *6 1 *4 3] 3,120
AlH] 1,560
-l 1,560
405 AtatE=H 102,000 12,800 89,200
Altl 51,000
Tl 51,000
01 Tt ESF=HI 22,000 0 22,000
O0lRI0|=E 235122t 2EI= 7l
22,000,000 22,000
AlH] 11,000
T4l 11,000
02 =AMl 80,000 12,800 67,200
O0eoI=g2sa2 A 7
16,0002 5,000 80,000
AlHI 40,000
Tl 40,000
HY2HIH(EAMZ) 406,353 247,373 158,980
= 103,000
Alt] 134,346
Tl 169,007
el 2| 374,459 218,676 185,783
= 103,000
Albl 134,346
Tl 137,113
elIg =3l 94,878 79,227 15,651
Alt] 31,346
Tl 63,532
101 @124H| 94,878 79,227 15,651
AlHI 31,346
Tl 63,532
02 JIEtME = 94,878 79,227 15,651




M EM
I AHSABY(TAB
Ce|: ol 2AH|
SA - BB -GS - MRAY - BES ofl b0 A
OUHEAZH(ESE A2 A ALA AIZHIER |
IIH B2(02)(1Y) 32,186
Rl 21,819,000 21,819
AR 22E
9,860 *x30Al 2tx12& 3,550
HHZAH| 140,000 * 12& 1,680
g2 x| 175,000&! +7/8+12& 1,838
Holet sy 50,000 +7/8x 128 525
E=E 840
=N 40,000 x12& 480
-J|Et 30,0003 128 360
D2 AHH|
1,818, 25021 89803+ 1/30%1/7484A1 24 506
Saxmay
1,818, 2502 x84%*5%*8/ 7+ 12& 1,048
| EEEHS 360,000 360
OUUEAZ (00| =232 2F) ALA Al
SEIT LIIH SL|(0I2)(1Y) 31,346
-HE 21,819,000& 21,819
Ald] 10,909
2| 10,910
NEEEERS
9,800 *x30Al 2tx 12 3,550
Al 1,775
2| 1,775
- HAHZA| 140,000& x 128 1,680
Al 840
2| 840
- AZE X 175,0002 #7/8x12& 1,838
AlHI 919
2| 919
HelesH| 50,0004 +7/8x12& 525
AlH] 263
] 262
A2 AH|
1,818,250 R x84%x86%+ 1/30%1/7x84 Al 2+ 526
Al 263
2| 263
SR Y
1,818, 250! x84%+5%+8/7* 122 1,048
Al 524
] 524
- J|2EEEES 360,000 360
AlHI 180
2| 180




2AM EA
B HESAAY|(TAD)
ohel: oI 23| (SH &)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
OBIEHZ A ALA AIZFIEH 201H 2
2(01=2)(1g) 31,346
k= 21,819,000 21,819
AlHI 10,909
24| 10,910
NEEEEER=
9,860 *30Al2H+12E 3,550
Al 1,775
-4l 1,775
- HMZ A 140,000& 122 1,680
AlHI 840
el 840
- Mg 82 | 175,000 *7/8+ 12& 1,838
Al 919
-4l 919
CHolEt=H| 50,000&+7/8+12& 525
AltI 263
sl 262
el At
1,818, 2503 *84%*86%+ 1/30%1/7+84 A1 2¢ 526
Al 263
24| 263
SaxoLg
1,818,250 *B4%+5%+8/ 7+ 12& 1,048
Alt] 524
sl 524
IAEEREZ 360,000 360
AltI 180
=t 180
OIA2YHI(CIHE A2 JHZAIZE HEXIR) 180,525 0 180,525
s 58,000
AltI 58,000
=t 64,525
101 2124l 145,148 0 145,148
s 58,000
AlHI 58,000
sl 29,148
03 SRH(RINHS) 22X 2+ 112,728 0 112,728
OCHHEAM 2 JHZEAIZE AT X R AR 112,728
- BR2RN B4
2,490,2802 3B+ 122 89,651
s 39,825
AlHI 39,825
=t 10,001




EA A
B HESAAY|(TAD)
&2l I 2| (CH9: &S1)
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
22XAZ X} YESIIHH|
1,992, 220& x3%H x 13| 5,977
22N FASA
140,000& 3 x 128 5,040
g 150
AlHI 150
2| 4,740
2oxD2K JEeY
120,000& x 128 1,440
g 720
Al 720
2oxD2y KXY
13,9122 x3H *x8A| 2+ %18 6,010
rag 3,005
Al 3,005
SRAZ2ZA JEHEY
300,000& *2H 600
S22 dIatoi=
1,336,620 *3H x 13 4,010
04 JItNI22XsES 32,420 32,420
OCHHEM 2 JHZEAIZE AE KR AL 32,420
22 23,304,000 23,304
ras 11,652
AlHI 11,652
- S 5,296,000& 5,296
= 2,648
Ald] 2,648
HIAGD W =ATOIE
300,000& %23 *1H 600
k= 3,220,000 3,220
4 A2 REE2S 35,377 35,377
04 22X(2I|H) 22X HE28E=3 = 35,377 35,377
OZRXD2N BH29L2 S 12,684
NEEE I3
112,728,000 *1.75% 1,973
MATHOHEE D22 =
112,728,0002 * 1% 1,128
=0IAHUEE J|2A2g=2
112,728,000 & *3.545% 3,997
HAZEE J|A2EZ
112,728,000 %4 . 5% 5,073
QRLULE J|AEE=
3,997,000 %12.81% 513
OZ22Z222X §&2=2 22,693
Zexa2N HE2
22,693,000 13| 22,693




SA: EAE
B HESAAY|(TAD)
chol: ol (19 @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
el (StetE M2t JH2AIRE HERIH) 99,056 0 99,056
= 45,000
Albl 45,000
Tl 9,05
101 e124d| 99,056 0 99,056
= 45,000
AltI 45,000
-l 9,0%
04 JIZtN2Z2 XS 2 99,056 0 99,056
OodtE T A2 JH2HAIZE HE X ALY 99,056
lE2s 69,912,000 69,912
= 32,228
AltI 32,228
-l 5,45
CERE 15,889,000& 15,889
= 7,945
AlHI 7,944
g=—t=1= 9,655,000& 9,655
= 4,827
Alt] 4,828
- EEFOH 600,000 *3& 1,800
- SAEUE 600,000 *3& 1,800
=3l 31,8%4 28,697 3,197
Jl=23H] 31,8%4 28,697 3,197
201 Ler23| 8,554 5,357 3,197
01 At2teltl 8,554 5,357 3,197
OFAEE+S 3,888,000 3,888
OJlzge+4d IS4l 4,666,000 4,666
202 04| 20,160 20,160
01 =LHOLI 20,160 20,160
OJlzgf==d 0|
280,000 x 12 +6E 20,160
203 HR=H] 3,180 3,180
02 SRt =AY 480 480
ORIt =AY 480,000 480
M A2 LIFAI 2,700 2,700 0
ORANEgg =AY
3,000,000 *90% 2,700




